MONTERINGSBESKRIVNING /
ASSEMBLY INSTRUCTION

VX10/VX8/SIGLO ELSTATIV /
ELECTRIC HEIGHT ADJUSTABLE STAND

M481-2

-

T

Lagg bordsskivan med undersidan uppat och placera ut benen.
OBS! Lagg nagot under bordsskivan for att skydda ytan.

Place the tabletop with the underside facing up, place the columns.
OBS! Place something beneath the tabletop to protect the surface.

VX10 - placera benet markt
Master

pd samma sida som
handkontrollen skall monteras
VX10 - place the column marked
Master on the same side

as the deskcontroll

ﬁ MF6S M6X12 (12st / 12 pcs)

De stora halen i sargen

frén benen.

The large holes in the frame
away from the column

i

Placera ut sargarna och férstarkningsstag och skruva fast i benen.

Place the frames and sidesupports and mount to the columns

T

Stallskruvarna skall peka fran bordsskivan
Setscrews shall point away from the tabletop

Montera tackhattar
Mount end caps

MF6S M6x12

%




MONTERINGSBESKRIVNING /
ASSEMBLY INSTRUCTION

VX10/VX8/SIGLO ELSTATIV / s

ELECTRIC HEIGHT ADJUSTABLE STAND M481-2 1936

/ T STRX 5,0x17 TSTRX 4,5x45 \
8st / 8pcs 6st / 6pcs

Justera sargarnas langd genom att lossa pa stillskruvarna och skjuta benen. Drag at stallskruvarna.
Placera stativet pd 6nskad position. Skruva fast stativet i bordsskivan med traskruven.

Adjust the length of the frames by losening the setscrews and move the columns. Tighten the
setscrews. Place the stand in prefered position. Mount the stand to the tabletop with wooden screws.

i
.

STRX 4,5x45

STRX 5,0x17

P& korta bord kan endast 1 skruv / sarg monteras
On short tabletops, only 1 screw / frame can be mounted

MF6S M6x12 STFX 4x20

8st / 8pcs 2st / 2pcs

till fotter / till handkontroll /
for feet for deskpanel

Montera pa fétterna pa elbenen. Skruva fast handkontrollen i bordsskivan

Mount the feet on the columns. Mount the deskpanel to the tabletop

Fotter / Feet
VX10 MF6S M6x12

VX8 MF6S M6x12
’F Siglo MC6S M6x20
Solid foot MC6S M6x20

STFX 4,0x20
Handkontroll / deskpanel

.




MONTERINGSBESKRIVNING /
ASSEMBLY INSTRUCTION

VX10/VX8/SIGLO ELSTATIV /
ELECTRIC HEIGHT ADJUSTABLE STAND

M481-2

-

VX10 denna sida endast for VX10
VX10 this page only for VX10

Koppla ihop ben, trafo och handkontroll enligt nedan

/2\

SMPS

Maotor cable

Connect columns, power supply and desk panel according to pictures below

Desk panel (e.g.)

1
3 Connect th desk pandl 1o

the mastar colurmn

3 Canmact the SEBPS o the
master column and the mains

Lkse the motor calbda fo
conmac] the e columing

-l'i.
L]




MONTERINGSBESKRIVNING /
ASSEMBLY INSTRUCTION

VX10/VX8/SIGLO ELSTATIV /
ELECTRIC HEIGHT ADJUSTABLE STAND M481-2

-

VX8/SIGLO denna sida endast for VX8/SIGLO
VX8/SIGLO this page only for VX8/SIGLO

A Koppla in trafon till bdda benen, anslut handkontroollen och
natkabeln.

Connect the power supply to both columns, connect the deskcontroll
and the main cable to the power supply.

/o\

Placera trafon mellan sargarna, skruva fast med STRX 4,5x45
Place the power supply between the frames and mount using STRX 4,5x45

Trafo /
Power supply

\ 2017-08-29 /




MONTERINGSBESKRIVNING /
ASSEMBLY INSTRUCTION

VX10/VX8/SIGLO ELSTATIV /
ELECTRIC HEIGHT ADJUSTABLE STAND M481-2

-

vand pa bordet
A Turn the table to upright posistion

A K6r ner bordet i botten genom att halla inne nerknappen pa handkontrollen.
N&r bordet &r i nedersta laget, hdll in knappen i ytterligare 10 sekunder for att

Drive the table to down position by holding the down button.
When the table have reached the lowest position, hold the button for 10 more
seconds.

Ner / Down

\ 2017-08-29 /




	1
	Drawing View97
	Drawing View124
	Drawing View125

	2
	Drawing View104
	Drawing View116
	Drawing View126
	Drawing View127
	Drawing View128
	Drawing View129

	3
	3-1
	Drawing View132

	4
	Drawing View130
	Drawing View131


